LE20262U

| ®

<1600

=EN 1176
u

=3l

3-14

39

oTF

\

i A

ROBINIA FSC

PRE-DRILLED wwwfsc.org
SYSTEM FSC* C105341

The mark of

PLAYGROUNDS

designed for sustainable and creative play )
24-11-2021/ C

\_ EN1176




LE20262U

4885

MAX
kg/cm

2914

1200

2400

1400

(1/80)

1500

7000

8000

10172

12t

1
(1]

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Breedstrup « Phone +45 7575 4199 « mail@norna-playgrounds ¢ norna-playgrounds.com

~706 kg

~4m3 15%x20x500cm

170kg

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,

a fee of 10% of the assumed contract price will be charged.



LE20262U

RS00181

RS00178
RS00178

1 RS00182

N ~ N
Q! D11405

\
\3

RS00181 ————=

RS00179

RS00180

RS00182
LE26112

Parts List

QTY |PART NO DESCRIP.

D11405 |Swing arm steel w. fittings

LE26112 | Swing seat basket @1250mm

RS00178 | @200/220-658mm

RS00179 | @200/220-2540mm

RS00180 | @200/220-2855mm

RS00181 | @160/180-3350mm

NN 222N~

RS00182 | @160/180-3665mm




-
N
©
AN
o
AN
L
—l

(1/80)

1400

0ool

0ovi

45°

2400

oocl

(1:80)

3123

1177

1872

10172




LE20262U
&

LE16172

LE16106
LE16172

LE15246 LE16558

LE16558

LE16060

LE16152

LE16152

LE16534

LE15178

LE16601

Parts List

QTY |PART NO DESCRIP.

LE15178 | Swing joint incl. 2x M16x240

2 |LE16060 |M16 cap nut

4 |LE16152 |M16 - @30 mm

2 |LE16534 |M16 cap nut

12 |LE15246 | M20x430mm

12 |LE16106 |M20, nut O NORNA 100g

| 0 (LE16604)
24 |LE16172 |M20 - @37 mm

24 |LE16558 |@48/44,5mm |

1 |LE16601 |Locktite 5ml (Glue)




=
<
™

LE15910

LE20262U

LE15901

o

!IO"

Parts List

QTY

PART NO

DESCRIP.

LE15910

Name tag

LE15903

Max 4 pers. tag

LE15901

3x16, PH

LE15901

LE15903




